Bl

-1

20245 HERE AU BEHAH
WROITA VT RTIVEPIER BERBEPERE V17107 TS0 —H
X ] ANNEEEE SR BISEEER(26) BISEEER (3E) ey
% RBE& B bR f%%ﬁ N2 prey:is 5 TR ik EE | (BAEt
SBEN | TN | i S | e ERL | w0 | mn | ERGT | w5 | e BRG] T T B
o THRERE EAIEREES 30! 2 30 2
o PHEBET AR 45 3 45 3
Fp!) PHERED AR 30 2 30 2
0\ PHREBEN AR 30 2 300 2
o THEREY AR 30 2 30 2
£ AR RISEE I AR 30 2 30 2
T B BITHEE I AR 60} 4 601 4
# | TOEIC sisfsee FE | BIR 30f 2 300 2
5 | | RERREE (S EAAEHE) e | wie 151 1 151 1
# || 0Z1=—v3y EE | oMB 30 2 30 2
MR [o—s51150% #% | we| x O 30 2 30 2
B [mosso—1 wE | we | x 30; 2 30 2
#(ITUF59—1 =B | e | x 301 2 30 2
ITUF5—II =2 | we| % 30! 2 300 2
ITJF59—IV =B | e | x 301 2 30 2
ITJF5—V FE | e | % 30 2 30 2
A4 AT~ w8 | e | x 30 2 301 2
A T4 2T~ 2 | we| % 30 2 300 2
BIVINT ALY w8 | we| x 30 2 30 2
IS4 FOT1—R B | e | x 30 2 30 2
TSATIWETRRERE T wu|we|[x Of 30! 2 30 2
| T519 eI ZERT E AR RS 30 2 30 2
J|FF1In-nTFERHRL | RS | 4 | x 60 4 60 4
g mFeorzEHn w8 | wE | x 30! 2 300 2
’t't¥zt7r/\°|/—aay =l | e | % 30 2 30 2
S|F—Tnr—ez2Es w2 (we| % o 60 4 60 4
RN ITSAINTATL EmE | e | x 30 2 30 2
z|emiE wa | e | x 60 4 60 4
| FLer—vavEs w78 | we | x 30 2 30 2
AVTSAPUR #E | us| %0 30 2 30 2
w |, TSI ILIRED = | we | x 30 2 30 2
| 2 |VITvo TSy —2Hl | e (s x o 60 4 60 4
Ef FlorF oo FS5or—2B0 | w5 | sE | * 60 4 60 4
; YIFA VI TSI KB | EE | WME | * 30 2 301 2
2T %8N | w8 | s | x 60 4 60 4
F|vzFv750r—£BV | 58 | s | * 60 4 60 4
Zu—wwyd‘ BWE | | x 60 4 60 4
FlTsovERmET wmE | wie | x 60} 4 60 4
| o519 ERBED X AR 30 2 30 2
BRIt W | W | * 60 4 60 4
TSI VERBREN s | we | x 60 4 601 4
K\vrFvsTOTF1—2FE | B7E | M | % 60 4 60 4
2 [imstme 1 wE | o | 180 | 12 180 12
B |EER T w28 | wie | x 1801 12| 180 12
x |=|R5ER =7 | wis | - 180 6 180 . 6
B |8 |y5ur—=3 =2 | s | — 540 | 18 540 | 18
MER B ISR R 420 | 28510 28[330] 22[630| 24 [ 450 30[360] 242,700 | 156
EEREEH -1 -J]180! 6 -1 -|540} 18 -T- -1 -] 720] 24
SERRL B B 30 2 -1 - 30 2
SRR =t 4201 28 | 540 | 303301 22630} 24 |450{ 30360 24| 2,730 | 158

X EPEATEEY S1%F




